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Answers for Chapter Test (cont.) 

  

  

 

 

 
 

 

4. 

5. Answers may vary. Both answers should be of the form  
y = ab

x
. For the growth model, b > 1. For the decay model,  

0 < b < 1. 

6.  y = (3)
x 7.  y = 2(5)

x 8.  y = 4(4)
x
 

9.  4.11 years 

10.  y = 3
x
 translated up 2 units 

11.  y = translated left 1 unit 

12.  y = 5
x
 translated right 2 units and down 1 unit 

13.  y = 2
x
 translated left 2 units and reflected over the x-axis 

14.  3 15.  1 16.  2 

17.  3                            18.  0 19.  4 

20. 21. 
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22. 23. 

24.  log2 2916 25.  log 
                   

26.  log7 a - log7 b 

27.  log 3 + 3 log x + 2 log y 

28. 1 29. 13 30. -1 31. 3 

33. -15.28 34. 3.89 35. 250 36. 0.01 

37. 
       

38.
           

39. 
         

40. 1.359 

41. 7.456 42. 17.058, -16.058 

43. 4.780 44. 99 cm 

 


